02 12 23

G )

15,665 | 15,665 0| 0| 0
R2 R3 R4
0 42 100
X
17 72 100
km /% km x 100




R02 |R03 [R04 [ROS5 [RO6

A01-001 () | m | 1,061

A01-002 () | m | 610
)

A01-003 () | m | 1,100
)

A0L-004 () | m | 630
)

A01-005 [ 267 ( [a[n]n] ] 840 |

A01-006 |( Y445 ( | . | . | . | | 575|

A01-007 () | m | 600




R02 |R03 [R04 [ROS5 [RO6

A01-008 | )32 [a[n]n] ] 500 |
A01-009 |( )443 | . | . | . | | 500|
A01-010 | )s01 [a[n]n] ] 1,500 |
A01-011 |( 1389 | . | . | . | | 1,ooo|
A01-012 [ [a[n]n] ] 1,200 |
A01-013 ) R I 1,200
A01-014 ( )35 R I 800
A01-015 ) R I 600




R02 |R03 [R04 [ROS5 [RO6

A01-016 ) "= |m 800
A01-017 ) "= |m 513
A01-018 [ [ [ 500
A01-019 [ [ [ 636
o e[ T[]

| [T T [T sl




RO2
@ 719
() 0
(c=a+h) 719
(©)) 0
) 246
® 473
@ 323
(h = c+d-e-F) 0
(i = (g+h)/(c+d)) 44.92
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